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QUESTION 1

Which three are steps to create an allocation rule? 

A. populate the driver basis dimensions 

B. select the execution method 

C. populate the allocation formula 

D. populate the destination dimensions 

E. populate the source dimensions 

Correct Answer: BDE 

 

QUESTION 2

Which statement Is FALSE about Dimension Management In Profitability and Cost Management? 

A. You can manually edit Business, Attribute, and Point of View dimensions. 

B. System dimensions ore not displayed In Dimension Management. 

C. Profitability and Cost Management uses dimensions and members created In Oracle Essbase. 

D. Dimensions are imported using flat files or the Data Management feature. 

Correct Answer: C 

 

QUESTION 3

Which statement Is FALSE about this EPM Automate command? 

A. It will fail if the user does not have the Service Administrator role. 

B. It will load data from profitdata1.txt data then run all rules in rule1, txt 

C. It will fall If ruiei.txt and profitdatai.txt are not uploaded to the profitinbox first. 

D. It will clear data from the slice of the database referenced in the data file and leave other data intact. 

Correct Answer: C 

 

QUESTION 4
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Which three components are required to create a valid rule set? 

A. Using Global Context defined in POV 

B. Rule Set execution method 

C. Rule Set Name 

D. Sequence 

E. Defined rule set context 

Correct Answer: BCD 

 

QUESTION 5

Your Profitability and Cost Management Cloud application contains a product dimension with 150 products. You\\'ve
received a dimension data file containing only a list of 10 new products that need to be added to the current product
dimension. You use the file to import the new product members, using the Update Dimensions option in the Profitability
Application Console. 

Which result describes what will happen? 

A. The dimension update fails with errors and no changes are made to the product dimension. 

B. The 10 new members are appended to the bottom of the existing product dimension. 

C. The product dimension is replaced by the contents of the update file; only the 10 new members reside in the product
dimension after the update. 

D. The 10 new members are merged Into the product dimension and sorted alphabetically. 

Correct Answer: C 
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